
π =: p5

λ =: p1

% =: p2

υ =: p3

ε =: p4

π−υ=Ø
bros(λ)−ι=Ø
bros(%)−ι=Ø

link(υ, ι−υ)−bros(λ, %)=Ø
diag(sibs([λ, λ, %]))=sibs([λ, λ, %])

rA(λ)=rA(%)
diag(υ)=υ

diag(link(ε, ε))=link(ε, ε)
�ε=1l
ε∩υ=Ø

υ∩lA(%)=Ø
rA(λ)=rA(ε∪υ)

�υ=1l
lA(λ)=lA(υ)



mult(p6)∩rA(π)=Ø
mult(p6

^)∩rA(π)=Ø
rA(π)∩lA(π)∩p6=Ø
mult(p6)∩lA(π)=Ø

mult(p6
^)∩lA(π)=Ø

mult(p7)∩rA(π)=Ø
mult(p7

^)∩rA(π)=Ø
rA(π)∩lA(π)∩p7=Ø
mult(p7)∩lA(π)=Ø

mult(p7
^)∩lA(π)=Ø

mult(p8)∩rA(π)=Ø
mult(p8

^)∩rA(π)=Ø
rA(π)∩lA(π)∩p8=Ø
mult(p8)∩lA(π)=Ø

mult(p8
^)∩lA(π)=Ø

mult(p9)∩rA(π)=Ø
mult(p9

^)∩rA(π)=Ø
rA(π)∩lA(π)∩p9=Ø
mult(p9)∩lA(π)=Ø

mult(p9
^)∩lA(π)=Ø

mult(p10)∩rA(π)=Ø
mult(p10

^)∩rA(π)=Ø
rA(π)∩lA(π)∩p10=Ø
mult(p10)∩lA(π)=Ø

mult(p10
^)∩lA(π)=Ø

mult(p16)∩rA(π)=Ø
mult(p16

^)∩rA(π)=Ø
rA(π)∩lA(π)∩p16=Ø
mult(p16)∩lA(π)=Ø

mult(p16
^)∩lA(π)=Ø



lBoth(p6, p6
^)∩π=Ø

lBoth(p6, p7)∩π=Ø
lBoth(p6, p7

^)∩π=Ø
lBoth(p7, p6

^)∩π=Ø
lBoth(p6, p8)∩π=Ø

lBoth(p6, p8
^)∩π=Ø

lBoth(p8, p6
^)∩π=Ø

lBoth(p6, p9)∩π=Ø
lBoth(p6, p9

^)∩π=Ø
lBoth(p9, p6

^)∩π=Ø
lBoth(p6, p10)∩π=Ø

lBoth(p6, p10
^)∩π=Ø

lBoth(p10, p6
^)∩π=Ø

lBoth(p6, p16)∩π=Ø
lBoth(p6, p16

^)∩π=Ø
lBoth(p16, p6

^)∩π=Ø
lBoth(p7, p7

^)∩π=Ø
lBoth(p7, p8)∩π=Ø

lBoth(p7, p8
^)∩π=Ø

lBoth(p8, p7
^)∩π=Ø

lBoth(p7, p9)∩π=Ø
lBoth(p7, p9

^)∩π=Ø
lBoth(p9, p7

^)∩π=Ø
lBoth(p7, p10)∩π=Ø

lBoth(p7, p10
^)∩π=Ø

lBoth(p10, p7
^)∩π=Ø

lBoth(p7, p16)∩π=Ø
lBoth(p7, p16

^)∩π=Ø
lBoth(p16, p7

^)∩π=Ø
lBoth(p8, p8

^)∩π=Ø
lBoth(p8, p9)∩π=Ø

lBoth(p8, p9
^)∩π=Ø

lBoth(p9, p8
^)∩π=Ø

lBoth(p8, p10)∩π=Ø
lBoth(p8, p10

^)∩π=Ø
lBoth(p10, p8

^)∩π=Ø
lBoth(p8, p16)∩π=Ø

lBoth(p8, p16
^)∩π=Ø

lBoth(p16, p8
^)∩π=Ø

lBoth(p9, p9
^)∩π=Ø

lBoth(p9, p10)∩π=Ø
lBoth(p9, p10

^)∩π=Ø
lBoth(p10, p9

^)∩π=Ø
lBoth(p9, p16)∩π=Ø

lBoth(p9, p16
^)∩π=Ø

lBoth(p16, p9
^)∩π=Ø

lBoth(p10, p10
^)∩π=Ø

lBoth(p10, p16)∩π=Ø
lBoth(p10, p16

^)∩π=Ø
lBoth(p16, p10

^)∩π=Ø
lBoth(p16, p16

^)∩π=Ø



p11−p15=Ø
p15−υ=Ø
p15∩π=Ø

p12−p13=Ø
p13−p14=Ø
p14−υ=Ø
p14∩π=Ø

p10−link(p114π, p124π)=Ø
p12−lA(p10)=Ø

p11−rA(p10
^)=Ø

p16−link(p154π, p144π)=Ø
p14−lA(p16)=Ø

p15−rA(p16
^)=Ø

diag(sibs(p16, p16))=sibs(p16, p16)
mult(p10)=Ø
mult(p9)=Ø

dom(p9)−p11=Ø
img(p9)−υ=Ø

p11−flagDom(p9, 0)=Ø
mult(p8)=Ø

dom(p8)−p15=Ø
img(p8)−υ=Ø

p15−flagDom(p8, 1)=Ø
mult(p7)=Ø

dom(p7)−p15=Ø
img(p7)−υ=Ø

p15−flagDom(p7, 1)=Ø
mult(p6)=Ø

dom(p6)−p14=Ø
img(p6)−υ=Ø

p14−flagDom(p6, 1)=Ø
mult(keyFunc([p7, p8], λ, %, 0))=Ø

π∩img(p7)=Ø
π∩img(p8)=Ø

diag(π)=π
mult(keyFunc([p6], λ, %, 0))=Ø

π∩img(p6)=Ø
diag(π)=π


